Removal of ‘“Too’ | 23

‘Too’ U% Adverb ¥ | 9% Positive 3 Negative 9] 778 1 sense express
AT & | 518 39 Positive sense § Use 3537 @77 &, &7 2qr 314 2067 £ “Also’,
FEH—

I too was invited to the function. (= Talso was invited to the function.)
oY I Negative sense o Use ftran =tmar &, o1 z9& a4 BT B— ‘Excessive’ O7
‘More than what is required or proper’: ¥8—Neha istoo naughtv. (= Neha s
very naughty). You are too miser. (= You aremore miser than vou should be)

g ‘Too’ & WHTT Positive sense § Z1AT &, & Sentence & transform
&1 feger = gwar ! “Too’ & 9EFT Negative Sense # 24 77 & Sentence &1
transform FFIT 71 THa1 % |

I B0 ¥ Sentences & 39 &= FETE 9T A7 Hi—

1. He istoo weak to walk,
The weather is too cold to go out.
3. He istoo poor for an industrialist.
4. The tea is too hot.
T e/ ST O ofads / o e Tl aifen IEE st TH B
Nowadays leaders are too anxious about pomp and show.
6. It istoo much for a gentleman.

Pt iz =l & fou 78 saedra E1/ 3% 57 g0 (2% 9 aren) £ %

FE Y =foT T TE 78 g@ar £

Y7 B0 T Sentences 9% T 44 & g8 =2 267 & % 72 Too” &7 9591

Ba:H ToF TF ZW (Merit / Demerit) BT TfF9m (Excess / More than what

is required or proper) & WF T HH B [0 FFEIT T=T ¥ | U¥ Sentences

& Meaning / Sense " fae change fiFm &1 Sentences 0 ugF Too’ G|

ZEET (Remove) 7 T4l & |

How to Remove “Too’
1. afE Too' & e ®1E Negative Adjective (Adjective Expressing a Negative

Meaning) T &7 Negative Adjective & 1= #1% Infinitive a7 Infinitive

phrase & 7&. &1 “Too’ B very & change &7 Rar =1 &; Fi8—
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He is too wicked.
neg. adj.
He is very wicked.

You are too selfish.
neg. adj.

You are very selfish.

T “Too’' & &= HIZ Positive Adjective (Adjective Expressing a Positive
Meaning) #TT ST I Positive Adjective & d13 F12 Infinitive T Infinitive
Phrase 721 7%, @1 ‘Too’ sense & FTHIT ‘More than what is proper / should
be /required’ ¥ Change & f&a1 7T 8; Sfi—

He is too laborious
pos. adj

He is more laborious than he should be.

She is too confident.
pos. adf.

She is more confident than what is proper.

ot, She is more confident than she should be.

FiE ‘Too % 9% &% Adjective (Positive / Negative) AT &Y 39 Adjective

# g BT [nfinitive T7 Infinitive Phrase 12, 91 ‘Too’ % M=efag ae a4

change fFar ST 8—

(a) ‘Too' B/ ‘S0’ H Change &7 faar smar &

b} Infinitive / Infinitive Phrase %l Negative that clause ¥ T A clause
beginning with that § change &7 By @rar &; 39—

He is too weak  to walk.
neg. ady. infinitive

He is s0o weak that he cannot walk.
neg. that clause

Heis too  honest  to accept a bribe.
pos. adj. infinitive phrase
He is so honest that he cannot accept a bribe.

They are too  slow (o catch the train.
neg. ady intimitive phrase

They are so slow that they cannot catch the train.
gff Sentence ¥ “Too’ & ATY HE TET Negative word 78 A, Too i
frfesiga 978 9 Remove foean wmam 82—
{a) ‘Too" &1 ‘So’ # change w7 fean FTaT # |
{b) Negative word (Not) EAR-CE ROV
{c) Infinitive/Infinitive phrase &I Positive that clause § change &7 &=
He is too intelligent not  to understand it.
neg. infimitive phrase
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He is so intelligent that he will understand it.
Positive that clause

He is too selfish not to let you down

neg. infinitive phrase
He is so selfish  that he will Jet vou down.
FPasitive that clause
FoT BT 7T Rules T 9oi-4ily 995 99 % @1F Removal of ‘Too' § &
fampe 1 Bt 1 T o1 5151 &7 3 AT § Removal of “Too” T iEam
Ty § 37 WY, T[T A Different Types § B Worked out Examples
fag @1 @ ¥ 2= et & amas #T S concept T clear HT —

Type—- A

1.

Mohan js too seltish to help others.
Mohan is so selfish that he cannot/will not help others.

2. He is too honest to steal anything.
He is so honest that he cannot/will not steal anything.
3. He is too simple to cheat anvone.
He is so simple that he cannot/ will not/does not cheat anvone.
4. He was too late to catch the morning train.
He was so late that he could not catch the morming train.
5. He was too slow to win the race.
He was so slow that he could not win the race.
6. She is too shy (g% to talk to others.
She is so shy that she can /will not talk to others.
7. The news is too good to be true.
The news is so good that it cannot be true.
or, The news is so good that it does not seem to be true .
8. The wall is too high for me to climb.
The wall is so high that I cannot climb it.
9. The roof is toe high for one to touch.
The roof is so high that one cannot touch it.
10. The sight (55%7) was {oo dreadful to be seen .
The sight was so dreadful (g=r7=) that it could not be seen.
11. The sun is too hot for me.
The sun is 50 hot that I cannot bear if.
Type-B
12. The mountain is too high to climb.
The mountain is so high that one cannot climb it.
or, The mountain is so high that no one can climb it.
13. The weather is too hot to go out.
The weather is so hot that one cannot go out
or, The weather is so hot that noone can go out.
14. Ttis never too late to mend.

1t is never so late that one cannot mend oneself.
(Tt is better to mend even at a late hour than never to mend at all.)
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9 & @ Sense & HFHT ‘One’ & TGHT that & 1 subject F FEo § [T o7
HepedT B

Type - C
14. He is too dull for a sportsman.
He is so dull that he cannot be a sportsman.
15. He is too lazy for an early riser.
He is so lazy that he cannot be an earlv riser.
16. She is too ugly for an actress.
She is so ugly that she cannot be an actress.
17. He is too coward for a soldier.
He is so coward that he cannot be a soldier.
Type-D
18. She was too much distressed (5257 to be able to speak.
She was so much distressed that she was not able to speak.
19. The case is too clear to require arguments (F84).
The case is so dlear that it does not require arguments.
20. The results were too bad to be published.
The results were so bad that they were not fit to be published.
21. The news was too shocking (dfsrera®) for her.
The news was so shocking that she could not bear.
22. My heart was too full for words.
My heart is so full that [ could not speak out words.
23, The amount is too small for me.
The amount is so small that it cannot serve my purpose.
24. The curd is too sour to be eaten.
The curd is 50 sour that it is not worth eating.
25. His conduct (&=, is too bad to mend (Femrm).
His conduct is so bad that it cannot be mended.
26. It is too early to disclose (#e %777 the fact.
It is so early that we need not disclose the fact (Fegl.
27. It is too much for me.
It is so bad / shocking for me that I cannot bear it.
28. The fire is too hot for the baby.
The fire is so hot that the baby cannot bear it.
29. The water is too cold for me.
The water is so cold that ] cannot drink it.
30. He is too old for the job.
He is so old that he is not fit for the job.
31. She is too old for me.
She is so old that [ am no match for her.
32. The rubber is too small to rub with.
The rubber is so small that one cannot rub with it.
23. The loan (%) is not too heavy for me to repay.
The loan is not 5o heavy that [ cannot repay (g% it.
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Type—E
34. He is too clever not to understand the tricks.
He is so clever that he will understand the tricks.
35. She is too generous not to forgive me.
She is so generous that she will forgive me.
36. He is too kind-hearted not to take pity on the poor.
He is so kind-hearted that he takes pitv on the poor.
37. Gandhiji was too good not to love even his enemies.
Gandhiji was s0 good that he loved even his enemies.
38. The room is too large not to accomunodate all of them.
The room is so large that it can / will accommodate all of them.
39. Her behaviour was too polite not to impress the guests.
Her behaviour was so polite that it impressed the guests.

Type—F
40. She is too mean-minded (#famref).
She is vervy mean-minded.
41. Mohan is too honest.
Mohan is more honest than he should be.
or, Mohan is more honest than what is proper.
42. He runs too fast.
He runs faster than what is proper.
or, He runs faster than he should.
Type-G
43. He is too eager (309%; for name and fame.
He is over eager for name and fame (79 &7 721).
44, He ate too much.
He ate more than enough.

45. Too many cooks spoil the broth. (=rEr 7 72 I35 1)
Cooks over /beyond / above a proper limit will spoil the broth.

Exercise : 1

-

(A ) Transtorm the following senfences without altering the sense, by removing oo
1. He is too wicked.
2. She is too intelligent.
3. He is too selfish.
4. They are too humble.
5. He is too honest to cheat others.
6. We are too slow to catch him.
7. Heis too gentle to harm others.
8. He is too cunning to think of helping others.
9. He is too proud (FEHRT) to command the respect of the people.
10. She is too weak in Hindi.
11. The guestions are too easy.
12. The questions are too tough (#/&7).
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13. Mount Everest is too high to climb.

14. They have gone too ahead (#77) of me to catch.

15. The leader was too important to be ignored.

16. These people are too dishonest to be trusted.

7. Dur leaders are too dishonest to do any good to the nation.

18. She was too frightened (97977} to speak a word.

19. Isvas too late to hear the speech.

20. He is tow selfish to be a good friend.

(B) Transform the following sentences without altering the sense, by removing too'—
1. He is too stromg to be beaten,

Human life is too short to be properly (Fgfa) enjoyed.

The problem is too difficult for us to solve,

He is too inmocent for a leadern

This issue (&7} is too difficult to be solved,

The shirt was too small for me to wear

The sweather is too hot.

My father is too busy.

He speaks too fast to be followed.

(AT TR | P T LR T o

He is too kind-hearted not to help all.
He is too clever not to understand my points.

]2 =

The house is too small for me.

My grief (971%) is too deep for words.

The garden is too beautiful not to attract the attention of all..

Lady Macbeth was toe mean (%747} not to be an object of hatred (F97).
The room is too dark to see the door.

ks |

P ek el
oo s D

=

They were too slow to complete the project in time.

[

They are being toe kind.

—
b

He is too attentive.
20. It istoo much for me.

Exercise : 2

(A} Transform the following sentences without altering the sense, by using ‘too—
1. She is very bad.
2. He is more gentle than he should be.
3. &he is more laborious than what is proper.
4. He is s0 honest that he cannot cheat others.
5. We are 50 stow that we cannot catch him.
6. He is so selfish that he will Jet you down {fdt &t fst @&v).
7. He is so wicked that he will harm others.
8. It is so bad that I canniot bear it.
9. The accident was so terrible that it could not be seen.
10. He is so upright (=97} that he will not accept a bribe.
11.  She was so dull that she could not dance.
12. The stick is so strong that it cannot be broken.
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L5 The news is so good that it cannot be true.

LN

The tea is hotter than what is proper.

15, The coffee is too sweet that [ cannot take it.

6. He is so younyg that he is not fit for the post.

7. One should not be over eager (37g%) for praise (F9777).
Cooks more than the required number spoil the broth,

They ate more than encugh.
2. He is so intelligent that she will understand it.
(B) Transtorm the following sentences without altering the sense, by using ‘too™
L. The boy was weeping so bitterly that he was not able to utter (%#97) a single word.
2. Her dress is so tight that it does not fit her.
The two friends are so close that they cannot be separated.
The luggage was so heavy that he could not lift it.
5. Human life is very sheort.
6. They are very notorious (&),
His behaviour is so rude (3/9752) that it will displease all.
5. Do not be more self-centred than you should be.
The government is so unstable that it cannot do any work.
1. The sun is 50 hot that one cannot go out.
11." My father is so good hearted that he cannot harm others.
12, The workers are so divided that they cannot continue the strike for long.
13, He is so generous (3%77) that he will forgive me.
14, She was so deeply affected that she was not able to speak.
I5. He is so strong that [ am no match for him.

16. My agony (2747} is so deep that [ cannot express it in words.
17. It is so shocking (Wg7a79%) that [ cannot bear it.

I8. The fruit is so unripe that it is not worth eating (@7 F7F).

19 The results were so bad that they were not fit to be published.
20, It is so early that we need not start the work now.

* % K



